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%,17$1*�87$0,� ��������3HQDQDPDQ�1LODL�1LODL�1DVLRQDOLVPH�0HODOXL�.HJLDWDQ�

(NVWUDNXULNXOHU�GL�60$�3HUWLZL���3DGDQJ

3HQHOLWLDQ� LQL� GLGDVDUL�� EDKZD� SHODNVDQDDQ� SHQDQDPDQ� QLODL�QLODL�

QDVLRQDOLVPH�GL�60$�3HUWLZL���3DGDQJ�EHOXP�PDNVLPDO��7XMXDQ� SHQHOLWLDQ� LQL�

XQWXN� PHQJHWDKXL� 3HQDQDPDQ� QLODL�QLODL� QDVLRQDOLVPH�� KDPEDWDQ� \DQJ� GLWHPXL�

GDQ�XSD\D�\DQJ�GLODNXNDQ�SDGD�VLVZD�PHODOXL�NHJLDWDQ�HNVWUDNXULNXOHU� VLVZD�GL�

60$�3HUWLZL���3DGDQJ

-HQLV� SHQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� NXDOLWDWLI� GHQJDQ� PHWRGH�

GHVNULSWLI��3HPLOLKDQ� LQIRUPDQ�GHQJDQ� WHNQLN�SXUSRVLYH�VDPSOLQJ�\DLWX�PHPLOLK�

LQIRUPDQ� \DQJ� WDX� EHWXO� PHQJHQDL� SHQDQDPDQ� QDVLRQDOLVPH� PHODOXL� NHJLDWDQ�

HNVWUDNXULNXOHU�� -HQLV� GDWD� DGDODK� GDWD� SULPHU� GDQ� VHNXQGHU��'DWD� GLNXPSXONDQ�

PHODOXL�ZDZDQFDUD� REVHUYDVL��GDQ�VWXGL�GRNXPHQWDVL��7HNQLN�PHQJXML�NHDEVDKDQ�

GDWD� GLODNXNDQ� GHQJDQ� WULDQJXODVL� VXPEHU��7HNQLN� DQDOLVLV� GDWD�PHODOXL� UHGXNVL�

GDWD��SHQ\DMLDQ�GDWD�GDQ�SHQDULNDQ�NHVLPSXODQ��

+DVLO� GDUL� SHQHOLWLDQ� LQL� PHQJXQJNDS� EDKZD� SHQDQDPDQ� 1LODL�1LODL�

1DVLRQDOLVPH� 3DGD� .HJLDWDQ� (NVWUDNXULNXOHU� 6LVZD� GL� 60$� 3HUWLZL� �� 3DGDQJ��

GLODNXNDQ�GHQJDQ�FDUD�PHQJDUDKNDQ�VLVZD�PHODNXNDQ�NHJLDWDQ�HNVWUD�NXULNXOHU��

PHQJDUDKNDQ� MLZD� VRVLDO� VLVZD�� VDOLQJ�PHQJKDUJDL� WHPDQ�� VDOLQJ� EHNHUMD� VDPD��

EDQJJJD� PHODNXNDQ� XSDFDUD� EHQGHUD�� 8SD\D� \DQJ� GLODNXNDQ� GDODP� PHQJDWDVL�

KDPEDWDQ� GDODP� SHQDQDPDQ� QLODL�QLODL� QDVLRQDOLVPH� SDGD� NHJLDWDQ�

HNVWUDNXULNXOHU� GL� 60$� 3HUWLZL� �� 3DGDQJ� \DLWX� VHOXUXK� FLYLWDV� GDQ� SHUVRQLO�

VHNRODK� EHUVDPD� SHPELQD� (NVWUDNXULNXOHU� PHOHQJNDSL� VDUDQD� GDQ� SUDVDUDQD�

NHJLDWDQ� HNVWUDNXULNXOHU� DJDU� HIHNWLI� GDODP�PHQJLNXWL� (NVWUDNXULNXOHU�� PHQFDUL�

VSRQVRU� ELD\D�� DJDU� NHJLDWDQ� HNVWUDNXULNXOHU� \DQJ� GLKDUDSNDQ� WHUFDSDL� GDQ�

EHUEHNDV�SDGD�GLUL�SHVHUWD�GLGLN�

.DWD�.XQFL��QLODL��QDVLRQDOLVPH��(NVWUDNXULNXOHU


